[ Efficiency vs vertpos |

0 S
LT O

efficiency vs vert
o o o
()] o)) ~l
I TTTT TTrTT I
-
-
-

©
»

o
w

I

+
&

1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_TT__ORIGINAL
Efficiend —— poM_TT_ MODIFIED_layerProcv2_PRVersion

~ 0.8

o
]

efficiency vs vert
o
(o]
=
5

|llluu.ul|ll||
“II”IH””]”|

Ratio
e

=30 -20 -10 0 10 20 30
TP vert z (cm)

~ 0.8

©
o
I

o
o))
T

BUSSS NN
LT A S 2”.'+H§. .....
RN

efficiency vs Sim. PV
o
Ci-ll TTT

o
»
I
PR

©
w
T

©
N
T

©
s
|

&

Ratio

°'gzo S5 TSSO 0 1520

Sim. PV z (cm)




	Contents
	Page 1


